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1 M= CIXIZ ERY (LUALZEL S0 | 27 K| 2K )
2 M= MBS A LA 2K F)
3 M= S| ZHH (F)STHIo|2H 2t
4 M= LAIEE =M E(F)
5 Hz= Cl2EEsAY O| A H| k()
6 M| = CIQEEH AN ZI QR oK)
7 M z= 20|22 AK80.0/12.522| 2 YESH 2K F)
8 M= FAC|IAL2T80/12.5mg () oty
9 S[ES T2 EEAEE0/12. 52| 2 2fotd ()
10 H = SrEZ B AX80/12. 522 1 SHHM 2K F)
11 Hz= M EPE160 2| 23 (LALZE Al 2k( )
12 H = Ml ebdgo e | I3 ( LUALZE Al X 2K )
13 M= OFX| 2HHE 1 AX80/12.5ng () el =H|f
14 M= MEEFHQN 2| 124 ( LALZEL (FIMER|
15 M= ClElME ™80 2| 23 (LALEEL) LMLk F)
16 M= C|2249HY80mg( UAI=EH) 2| T 2K F)
17 M= ST UALZEFS80mg( LALZ EL) (F)=THlo| 2K 2F
18 M = HFAPHB0L 2| 2 (LALZEL FL O =X 2K )
19 H = HAIR 2H402 2| 23 ( LUALZE) SHEI A 2H( )
20 H = LA 2E16022| T2 ( LUALZED SHE M| 2k( )
21 H = AR 2B 2 ( LALZE) SHEI A 2H( )
22 M= YR 2 Z 2| AK160/12. 522 |22 HELELES!
23 M = QIR 2 Ze{AKE0/12. 522 13 SHU| 2K(F)
24 M = Al EPY80 L 2| 7 (WALZEY) otF2tE(F)
25 H = HEQERYB0 L 2| 13 (LALZEL Sl X 2K ()
26 Hlz= SRALERY gL 2| I3 (A2 ED shgHio| 2mo}( F)
27 H = FAEREB02 2| 22 ( 2rALZ E QAEIH| 2K F)
28 M = AR 23022 | I3 ( LAL2ED SHA ()
29 M = HIZIERY80 L 2| 13 ( WALZ EH SHX| 2F( )
30 Hz= HIZFER 1602 2| 13 (A2 EH SHFA| 2k( )
31 S[ES SrAIEFZ 2{AX80/12. 522 1Y (F) L=t
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32 NS O|E| ALPALZ EFYB0mg ESEENIEES
33 M z= Of | ZX|M5/80L2| 174 (F)E&82Y

34 M Z= 9O E10/160 2 2| 12 GESH 2K F)
35 H = SO EM5/1602 2| 13 M 2H(F)
36 M= Of H = X|&10/1602 2| 124 (F)E&2Y

37 M= Of L ZX|H5/160 22| T3 ()52

38 S[ES C|21HpbY10/1602 2] 1234 L™ Z2|oH F)
39 M= ZH|ZX|H5/802 2| 1Y ALEH2H(F)
40 M= ZH|ZX|H5/1602 2| 1 TALEHM 2K(F)
4 M = ZH[ZX[Z10/160L 2] 22 ALEH K F)
42 H = 50| ZX|H5/1602 2| 1 SH=E0H )
43 M = slo| ZX|H5/802 2| 124 SH=RE0HF)
44 H = Sto| ZX|&10/1602 2| 134 SH=EE0H )
45 M z= A A=0|X5/80L2| 1M YSH 2K F)
46 S[ES A AE=0[H5/160L 2| 12 ZSH 2K F)
47 M z= A A=0[210/1602 2| 1Y YSH 2K F)
48 H = M| 2EI&5/802 2| 13 (F)mclZt=ez|of
49 M= ot 2EHY5/80mg () M A XA 2k
50 M= ot= 2 EFY5/160mg () M ALK H| 2k
51 M= HE|2EI&5/1602 2| 13 (F)mc|Zt=2|of
52 M = ol Cl 281510/1602 2| 124 (F)mcizt=z2|ot
53 S[ES AEFEX|H10/1602 2] 213 EtolX| 2k( )
54 H = AEFEX|M5/1602 2| 134 Bl M| k()
55 M z= AEREX|Y5/80L 2| 13 Btolx| ok( )
56 H= o}= 2 EHY10/160mg () M A XA 2*
57 M= Hi2C|EHA5/802 2| 13 2| EHM 2 F)
58 H = HE2C|EHA5/1602 2| 13 2| EHM 2K F)
59 M= HI2C|EA10/1602 2] 13 PE|EHM 2 F)
60 Hz= A ATIERE10/1602 2| 1Y ARIEE(F)
61 M z= A ATERY5/1602 2| 134 PERIAUE(F)
62 M= A AT ERY5/80L 2| 17 PRIHE(F)
63 M = =0|c|E&5/160mg QT A 2K(F)
64 ES =0|C|EA5/80mg QT AH| 2K F)
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65 M = 2l A TpX| 7 &5/160 2 2| 213 AZH 2K F)

66 M= TREXY5/1602 2| 13 (&) wrAl
67 H = FREXIE10/1602 2| 22 (F) At
68 M= TREXY5/802| 1 (F) wrAle
69 M = M| 2| 10/160mg T 2K F)

70 NS A A3z =H|H5/160mg F= 5 Bl A K| 2K(

71 M= ol A 3 2 F| A 5/80mg 2 5B A K| 2K

72 M= M| 2H|5/160mg TR 2k )

73 M= Mo &l4475/160mg O|HAEH|0|2H |2 =)
74 M= X o] &l 44 75/80mg O|AEH O|2A|2K )
75 M = S| EM5/802 2| 13 FESH 2K F)

76 M= CUERY5/80 22| 13 (F)ZEH 2t
77 H = CYrERM5/160 L2 17 (F)H 2k
78 H = Cl2HPY5/802 2| 13 UM AR oK F)
79 M z= oA AT - A 5mg/160mg of A7{o|AH O ZH(F)
80 M = ol A X4 10mg/ 160mg ol AAH O[H DI ZH(F)
81 M= ol A mj{ 24 & 5mg/80mg of| AAH O AHBIZH(F)
82 H = C| A X|H5/80mg (F) CHARA| o

83 S C| AZX|H5/160mg () Chobr|of

84 H = C| A ZX|10/160mg () Chabr|of
85 [ ol 7 b= X1 &10/160 2 2| 124 ()=

86 M = Ml 7 b= x| &5/1602 2] 134 (F)et=

87 M= Ml 7= x| &5/802 2 124 (F)et=

88 H = terEX5/160 22| 12 SHX 2 F)

89 M = AEtEXM5/802 2| 1 M 2K F)

90 M z= | A2 10/160mg AU 2H(F)

91 Hz= | A2 5/160mg AU 2H(F)

92 H = 2IC| AF2%5/80mg AU 2H(F)

93 Hz= 7tEl = X|7410/160mg AU ()

94 M= 7t 3 X|H5/160mg LA 2K F)

95 H = 7| ZX|5/80mg AU ()

9% M = HE2 AFE10/160mg () mhop

97 M= HE2AHHE5/160mg (F) ok
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98 H = HE= AFEIA5/80mg (F)mtory

99 M= oflO| = X|&5/160 2 2| T3 (F) Sh=m| A K| A 2t
100 Hz= oflo| ZX|H5/80L 2| 217 (F) st=m| A x| x| 2k
101 H = A AC|EIMEE5/160mg U Ll2k(F)
102 M = A ALC|EIME5/80mg UMLK F)
103 H = A Az 2H|H10/160mg SHE REIAH 2K F)
104 SES A A |24 %10/160mg UM Ak F)
105 M = ot 2 EFY10/160mg BYUtE(F)
106 M= o t= EFY5/160mg FatE(F)
107 M = et = EFY5/80mg BYU+E(F)
108 H = H A ZX|X5/1602 2] 134 ZEFEIYU(F)
109 Hz= Hl A ZX|H5/802 2| 134 FERIESU(F)
110 M = H| A Z X[ Z410/160 2 2] 224 ZEFEIYU(F)
111 M= 24 AX5/80mg (F)Ho[dA
112 M= 4 AZ5/160mg (F)HtoEiA
113 (S A4 AZX10/160mg (F)Hfo| A
114 H = FHEX|H5/1602 2| 1 Sh= L 2K 2K F)
115 M = FLZX|H5/802 2| 13 St R U 2K 2K F)
116 H = A2 ZX|H5/80L2| 1M CH A 2k( =)
117 H = A2 ZX|Y5/160L 2] 13 CH & 2K )
118 H = M| 2| & 5/80mg T 2H(F)
119 M= oA A ZX5/80mg MO =EZH 2K F)
120 M= oAl A ZX5/160mg MU =FH 2K F)
121 M= Cl2oHPE5/1602 2| 13 UM AR oK F)
122 M = FokeX10/1602 2] 13y UfokE(F)
123 H = HEQEFS160L 2| T3 (LUAL= EH Skl & x| oK )
124 H = SHEFZES 1602 2| 27 (LWALZ ED FAWAHIO|L(F)
125 M z= SEIZPYG0 L 2| 12 (LA E FAWAHIO|L(F)
126 M = Mol =ZX|ZH10/1602 2| 1Y M erE(F)
127 M= Hlo| =X M5/80L 2| 13 HYtE(F)
128 M = Mol ZX|&5/1602 2| 134 HdetZ(F)
129 H = Cl2ZX|&5/802 2| 13 O| oA H| k()
130 M z= Cl2ZX|&5/1602 2| 1 O|AX| 2K( )
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131 M = oll x| ZX| &5/80U 2| 12 CHEhR ()
132 M z= ol | ZX|M5/1602 2| 134 CHebm ()
133 M = EX[AF10/1602 2| 213 AR 2H( )
134 H = 2X|AX5/1602 2| 217 A 2H(F)
135 M = oterERY10/160 2 2] 1 3Y ZI x| 2K =)
136 S ES CIALZY(2AL2EH (F)mory

137 M| = SRALEI A 5/802 2| 13y (F)sto| EAYgd ntst
138 M= SEAFE&5/1602 2| 13y (F) 30| EAfd otk
139 H = SEAFEIZE10/160 2 2] 23 () =to| EAYd nfst
140 M = AA|H|EFY5/80L 2| 12 70| of| AX| 2K( )
141 H = 2| 2| =X 160mg( LALZ B TEH 2K F)
142 M= 2| 2| =& 80mg( WAL= EL) T2 F)
143 XM= 7 A XS 5/80mg AUH| 2K )
144 M z= 7 el X 5/160mg Afelx| ok =)
145 H = 7 Il X}410/160mg 2FeIE 2k( )
146 M= FHEX|H5/802 2| 1Y (F) w7l E

147 Mz " EX|H5/1602 2| 1 (F) &

148 M = MEEIZ AN (F)MEzZ

149 SES AATE5/160L 2| T ()ol=xmta}
150 M= AATH5/802 2| 13 (F)olEmtat
151 M= Z2EZX|H10/160L 2|23 (F)et==2 2 et
152 M= QAAIH|EFY5/1602 2| 134 Alo| o] AX| 2K( )
153 M= FHEZX]H10/160L 2] 22 (F) g

154 M| = CI2ERY80L 2| I3 (UAIZED (F)HEe|2H <
155 Hz= Cl2EFg1602 2| 213 (A2 E) (F)HEZ[2H 2f
156 H = FC|2ERY80/12.522| 1 (F)HE|2H 2t
157 M= AAC|EM5/1602 2| 134 Sk Z2LRIA 2K F)
158 H = ofl A 2 HI1%5/80mg (F)MEIMHEO|2
159 H = oA 281745/160ng ()M EIMHIO|2
160 M= ol A 2H1310/160mg (F)ME|MHEO|2
161 H = HIQEFS 2| AX80/12. 52 2| 12 Sl X 2 ( )
162 M= HHAERY5/80mg

163 M= C|2C|EX5/16022| 12
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164 H = Cl2c|EHA10/1602 2| 13 da| FH 2K F)
165 NES THEEHAY CH ek EH )
166 M = AAZAK5/80U 2| 2 Ol =H 2K( )
167 M = AAFTAXM5/1602 2| 134 oA ()
168 Ml z= SFAPE (LFALZE (F)oto| & =x|2f
169 H = CHFAMERY5/160mg 2 okHto| 2 E(F)
170 M= U EFS160mg( LALZEL) CH b B (=)

171 M = e 80mg( AL E) CHeHR ()
172 M= olo|ZX|H5/160L 2| 1 oto|Fo{(F)
173 H = olo|ZX|&H10/1602 2| 124 olo|Fo{(F)
174 M= ofo| ZX|H5/80L 2| 134 oto|Fo{ ()
175 S AT EFAY MU D (LALZE! (=) QA 32 o ok
176 ES ii}g%i%@f@ajﬁ'( GAt=E (Z)2A32|ofH of
177 M = A A 2ERE5/8022| T (F)dag=za|ot
178 M= oA 2 ERY5/1602 2| 13y (F)dagz2|of
179 M= oA ZER10/1602 2| 13 (F)dagza|of
180 M= FEEX|Hs/8022 1 s A(F)
181 WES FEEXY5/160LE| T Sh=AAA(F)
182 RES FEEXF10/16022| 1 Sk A(F)
183 ok AtEtolo| 8omg( LALZ B (F)2IEz8lo|2uo}
184 M= LAFYREAXR)/12.522| T (F) 2232 ofH 2F
185 M z= LA THRERAK160/12.522| 2 (F) A2 ok 2t
186 M= B0|AEPY80 LR | I3 ( WAFZED H|o|of| AX| 2K )
187 H = So|AERY 160 | I ( LAFZEY Hlofof] AX| k(=)
188 H = SO|MEIHEB AT Mool 2K 2K F)
189 M= AA2HEHM5/80L2| 1M (F)FEIAEM
190 M z= AAZHEM5/16022| 13 (F) FH|IAEXM 2F
191 H = AA2HEH10/1602 2| 1Y (F) FEIAEM
192 M z= AT 7 E5/80L 2 13 AZH 2H(F)
193 ES M= ZX|A10/160mg ZROtX| 2k( )
194 M z= O =X X|&5/80mg ZOIM| ()
195 M z= H == X|H5/160mg ZOlM|2H(F)
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196 H| SFALZ HEE160mg( ZHALZEH S FE AKX 2K F)
197 M= LrAL2 EFY80mg( A2 EL) S REI A 2K )
198 A ol ot x| &10/1602 2| 1 o| 2 & 2F( )
199 H = AU X|H5/80L2| 1M o|2f & 2F( )
200 M = Aotz X|H5/160L 2| 13 o] 2 Al 2k F)
201 | oflo[HIAEFE5/1602 2| 17 | A ISH F)
202 M= Cl229HY160mg( WAL= EH Uz T 2K F)
203 H = of|o|HtAERY5/802 2| 12 Fa| AP H TSN F)
204 M = oflo|HAEFE10/1602 2| 12 | A ILEH F)
205 H = S AZ5/80mg () AH 2F
206 M = Foll AX5/160mg ()0t A of
207 H = S AX10/160mg () AH| 2F
208 H = ZX|H10/1602 2| 13 H = A K 2K F)
209 M = ZX[H5/1602 2| 1 H S AK| 2K F)
210 H = ZX|H5/80H 2| 2 O & A K| 2K )
211 M= Sl X H10/1602 2] 224 selalol(F)
212 M = SlZX|H5/1602 2| 13 Solmtor( )
213 M= Sl ZX|H5/80¢ 2| 1Y Sl mtok( )
214 M = FYERY0L | I (WAL= EL SRR A(F)
215 M= MEZX|H5/80L2| 1 (F)MEZ

216 M= M EZX|H5/1602 2| 23 (F)MEZ

217 M z= MEZX|ZH10/1602 2| 1Y (F)MEZ]

218 M= AUEP160L 2| 27 (LAL=ED =AY A(F)
219 Hz= MZEPH160LE| I (LUALZE (FIMEZ]




